


(ix) Which of the following statement is false?
(a) Context free language is the subset of context sensitive language
(b) Regular language is tﬁe subset of context sensitive language
() Recursively enumerable language is the super set of regular language

(d) Context sensitive language is a subset of context free language

(x) The minimum number of productions required to produce a language
consisting of palindrome strings over Z= {a, b} is
@ 3 b) 7 BNATCHOWE
© 5 @ 6

2. (a) Define finite automata. Differentiate between DFA .a'nd NFA.
(b) Design a DFA to accepts all strings of a’s and b’s ending with abb over
> ={a, b}.

(¢) Convert the following NFA with ¢ to DFA. B+bHh+5=15)

3. (a) Construct Regular expression for the language L which accepts all the

strings containing with atleast two b’s over Z= {a, b}.

(b) Construct regular expression for the following DFA.

(c) Define context free grammar. Construct a context free grammar for the

language consisting of atleast two a’s over Z: {a, b} . - (5+5+ 5=15)
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7. (a)
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(c)

Convert the following grammar to chomsky Normal form : (5)
S->Al11|11A

S>BJ|11

A->0

B->BB

Explain Chomsky’s hierarchy. Check whether the given grammar is
ambiguous or not. ' (5+5)

S->iCtS
S-> 1CtSeS
S->a

S->b

Define Push Down Automata. Construct PDA for a"5™". .
What Context sensitive language? Explain with example.
Construct PDA from the following CFG :

S->AB m
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B->b A_’? uahatl -~ o lDll

C->a

» : (5+5+5=15)

Define Recursive language. What are decidable languages and undecidable
languages? -

What are P class and NP class problems? Define Turing machine.
Construct a Turning machine to check whether a string is palindrome or

not, over the set ) ={a, b}. 5+ 5+5=15)
Prove using pumping lemma that the following language (L) is not regular
L=1{a"*,n20}, ¥ ={a,b}. , (5)
Is the grammar in question 7 (a) is context free? If not justify. If yes, design
the corresponding CFG (Context Free Grammar). (5)
Explain the computing power of universal turing. (5)
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